b all-XII (Commerce)

GIGI IR (Accountancy)
W9 : 3¢ + 15 fAaTe (sifaRe) quTieh : 100
Time : 3 Hrs. + 15 Minute (Extra)] [Total Marks ; 100]
HHTe forder (General Instructions) :
m o EGLRS #4 Rl T2k K e Ko Feealonin
ﬁ* YRS

IdUS—I (Section-I)
?Rﬂﬁlﬁ'q%ﬁ (Objective Questions)

R 3ich (Total Marks) - 50
B Yail bl [T (Total No. of Questions) - 50

IJUS—II (Section-II)
ﬁT—?RﬂﬁIWW (Non-Objective Questions)

RS 3P (Total Marks) - 50
13 I Yol (Short Answer Type Questions) — 15 (YA 2 3iP)
3id Iafla gget (Long Answer Type Questions) - 04 (9B 5 3ich)
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(There are some internal options in some of the long answer type questions. In such
questions you have to answer any one of the given alternatives. )

PR sty
«=«Zhdey «x

(Answer should be in your own language as far as practicable)

TN ezee W@ ﬂ\ﬂﬁ *(%*ﬂ% BN, F **@ E 2 (gere S NPPIy
@‘\* Koz QQ%’ «:*ﬁ*{ B St «=ex B M«:ﬁ@%‘m AW
oF =¥ Koz 7Y =@F BB e DD *

(Use of any electronic gadgets like Calculator, Cell Phone, Pager is prohibited during
exam.)




(2)

i@ O emia NI Bl

(The answer of objective question is to be given on supplied OMR sheet by completely
darkening the appropriate answer option.
For example if answer is (¢). You should darken it as shown by blue/black pen.

(a) (b) ) (d)

MODEL PAPER (UT3xU T3IT)
SECTION XAUS) — 1

Objective Questions (?Rﬂﬁf@' Q3o7)

Time : 1 Hours 10 Minutes [Total Marks ; 50]
HAG : 1T 10 el qurich : 50

In Section I, there are 50 objective type questions, to be answered on OMR Sheet. Question
Nos. 1 to 50 carry 1 mark each. Answer all the questions.

3is—1 8 Wt 50 dgforss YZail b IR SHTHSR e 1T ¢ | 9ot Hieam 1 A 50
ddh T Yk Ygel 1 31ch bl & | 7t ggail ab1 Iax S|

I.

In Question Nos. 1 to 50, each question has four alternatives, of which only one is
correct. You have to choose the correct alternative :

YT W 1 W 50 dch D Ydich Yol § IR fdcbey v 1w & 5o A vep & wal
21 9A Ay bl fRAifced b1 :

S0x1=50

Property received as a result of the will of the deceased person is called :
(a) Legacy (b) Honorarium

(c) Donation (d)  Subscription

A Afdd B aHId H YT FHFd Bl BBl Sl &
@) Rax b) AFI



(3)

() =™ d) ==
Payment of Honorarium to secretary is treated as :
(a)  Capital expenditure (b)  Revenue expenditure

(c)  Cash expenses (d) Deferred Revenue expenditure

Aafea Bl AFQd & A @
() Yo g (b) 3mETd =y
) < =g d) affra smad g9

In the absence of partnership deed, the partner will be allowed interest on the
amount advanced to the firm at :

(a) 5% (b) 6%

©) 8% d 9%

AN Hol &1 U 3§ AEER ® S9d gRT ®BH dI & T AH
R b1 &1 f&am SR

(@ 5% (b) 6%

) 8% d 9%

In the absence of partnership deed, interest on capital will be given to the
partners at :

(@ 5% (b) 6%

() 8% (d) None of these

ATSIER] A & T H AISIaR] o Yol IR 1ol fear SR
(@ 5% (b) 6%

(c) 8% d) T P T

Current Account is a :

(a)  Personal Account (b) Real Account

(c)  Nominal Account (d) None of these

T @I &

@) AfdTa @Tan (b) dr<fdsd @ra

(c) AT @rar d) ™| P AR

The interest on partners' drawings is debited to :
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(a)  Partenrs Capital A/c (b)  Profit and Loss A/c
(c) Drawing A/c (d) Revaluation A/c
ATSIARI & 3MMERVNN W Tl A4 fhar rdm &

(@) STSIRRI &1 Yol @rar |

b) ™m—aI= @ |

(c)  SMmERor @rar 4

d) YTHAIHA @rdr H

Interest payable on the capitals of the partners is charged to:
(a) Profit and Loss A/c

(b) Realisation A/c

(c)  Profit and Loss Appropriation A/c

(d) Revaluation A/c

AR B Yol W™ <1 1ol gafad far e &

@) mM™m—aIe @Tar |

(b) el T A

) <m—=r= o @ |

(d) YTHATHA @ H

The excess of actual profit over the normal profit is called :

(a)  super profit (b) fixed profit
(c) abnormal profit (d) normal profit
AR oM R aRdfdd S BT IMFR Heardl o
@) e (b) ffe=a am™
(c) o™= o™ d) =A™

A and B are partners sharing profit in the ratio 3 : 1. They admit C fori

share in future profits. The new profit sharing ratio will be :
9 3 4 8 4 4
(a) /lzg'.lg'Ig. C'Ig (b) [43};'13.Ig' C'Ig

) A=.BZ.c= d A>:B=:c2
16 16 16 16 16 16
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(5)

AR B3 : 13 U H oM P HRd gT ARIGR 21 9 C ®1 \fasg
a%amff% R QB YR BRI & | AT ATH—TaWTo JuTd 8T:

(a) A—:B-—:C— (b) A>:B.c=
16 16 16 16 16 16
(©) Ar:B—:C— (d) A—:B—:C-

X and Y share profits in the ratio of 3 : 2. Z was admitted as a partner who
gets % share. Z acquires % from X and % from Y. The new profit sharing

ratio will be :

(a 9:7:4 (b 8:8:4

(c) 6:10:4 (d 10:6:4

X SR Y 3:2d argu § am dfed &1 Z P < W @ forg wrser @
TN ZX W o O R RY W o dan 8l T oo s
BT

(@ 9:7:4 (b 8:8:4

(c) 6:10:4 (d 10:6:4

A and B share Profit and Loss in the ratio 3 : 1. C is admitted into
partnership for% share. The sacrificing ratio A and B is :

(a) equal by 3:1

(c) 2:1 d 3:2

ASRB 31 agua # wnii sl il @ died §1 C @ 5 R B
o e # gawr fear S 21 A 3R B &1 QR 31uTd &

(@) | (b) 3:1

) 2:1 d 3:2
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13.

14.

15.
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Excess of the credit side over debit side in Revaluation A/c is:
(a)  Profit (b) Loss
(¢) Gain (d) Expense

Qe cdich Tl | ST Y&l UR ST Y&l Bl e o
(a) (b) =i
(c) e d) ==

Abhishek, Rajat and Vivek are partners sharing profits in the ratio of 5 : 3 :
2. If Vivek retires, the new profit sharing ratio between Abhishek and Rajat
will be :

(@ 3:2 (by 5:3

(c) 5:2 (d) None of these

3P, ST R fddes 5 0 3 : 2 & IUId H o™i DI dicd U ABER o |
afe fAd® 3r@@mer TBU HRAT &, O AfMNG SR I9d b weI qAT A™

TSI J1uTa 81T
@ 3:2 b) 5:3
) 5:2 d) =T I PIETel

On retirement of the partner, the retiring Partner's Capital A/c will be
credited with :

(@)  his/her share of goodwill (b)  goodwill of the firm

(c) shares of goodwill of remaining partners

(d) None of these

Pl AEIRR & 3AHTY UTY B U I[AHIY UTU B dlel AEER D
USTl WTaT T 1 fhar STRAT:

@) SHBI/SHD @I > T |

b) wH @ = |

(c) <Y \EERI @ @Wifd & T 4

(d) 3T | PIZ T

X, Y and Z share profits in the ratio of %,% and %. Z dies. New ratio of X

and Y will be :
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(7)

(@ 3:2 (by 2:3
() 2:1 (d) None of these

X,Ysﬁ?A%ésﬁ?% & SUId H A B TS AR & | Z B g 8

STl 1 X 3R Y BT =77 U BT

@ 3:2 b) 2:3

(© 2:1 (d) = 9 PIg T
Relisation Account is a :

(a)  Personal Account (b) Nominal Account
(c)  Real Account (d) None of these
Rl @1 &

(@) AfddTa @ran (b) AT AT

c) ar<fas @ d) 3™ | PR AR
Expenses on dissolution of a firm is called :

(a) Realisation expense (b)  Legal expense
(c) Loss expense (d) None of these

BH & THYS UR 8F dTel T Bl HEA o

()  oRIel = (b) L =

c) =Ifrra =33 d = 9 P18 T8

The excess of actual profit over the normal profits is called :
(a)  Super profits (b)  Fixed profits

(c)  Abnormal profits (d) None of these

AR A R IR ™ BT SMEa HEA o

@) e (b) ffe=a am™

c) o™= am™ d) 3z 9 P AR

When the new partner pays for goodwill in cash, the amount should be

debited in the firm's books to :
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(@)  Goodwill Account (b) Cash Account
(c)  Capital Account of new partner (d)  None of these

S AT AISIER A B WBbd 6 {7 ddhe odl &, df BH DI 9t § 39
PH P Sfde FHAr =

(@) Ifd @rar | b) <rws @rar A

() U AEIRR & Yol @ | d) =™ F DR A3

Rohit and Rohan share profits in the ratio of 3 : 2. Rohini was admitted as a

partner who gets 1/5 share. If Rohini acquires 3/20 from Rohit and 1/20
from Rohan, new profits sharing ratio would be :

(a 9:7:4 (b 8:8:4

(c) 6:10:4 (d) None of these

AR @R AT 3 : 2 & AU # ¥ dfed g | ARl & AERR & w9 #
Jfer faar ar o, S 1/5 W 9d & | afe Afeoll 3 /20 Afed 4 o @R
RIS 9 1,/20 o A1 741 M TSI S1UTe 8T

@ 9:7:4 b) 8:8:4

) 6:10:4 d) =™ F D T2

At the time of admission of a partner, undistributed profits appearing in the
Balance Sheet of the old firm is transferred to the Capital Account of :

(a)  old partners in old profit & loss sharing ratio

(b) old partners in new profit & loss sharing ratio

(c)  all the partners in the new profit & loss sharing ratio

(d) None of these.

e WRER & wW B @ wE wd @ arhfe fres § waffd
TR o™ T Yol amar # g far S e

() YR ATHERI BT YR AH—8T TS srurd 4
b) Y AEERI DI T AE—gI A9 iU H
) ol IERRI & T aM—gIe fawre srgurd |
d) 3T W\ IS T
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(9)

Decrease in the value of fixed assets 1s termed as :

(a)  Depreciation (b) Loss
(c) Profit (d) Expenses
Wl R & 4ed H P dedRl o
(@) F™ (b) =
(c) ™ d) =

At the time of dissolution of partnership firm, Profit & Loss Account shown
in the assets side of the Balance Sheet is transferred to

(a) Realisation Account (b)  Cash Account

(c) Partners’ Capital Accounts (d) Bank Account

AEEN BH & 9 & 9ad o fued & wwhRy ue § fewre Wy
T8I W B gwaidRd fhar Sidr 2

() o @ A (b) Iwe @ A

©) wEER @ U @) & @

At the time of dissolution of partnership firm, the ‘Bills Payable’ shown in

the liabilities side of the Balance Sheet is transferred to :

(a)  Partners’ Capital Accounts (b) Realisation Account

(c) Cash Account (d) Profit & Loss Account

TGN BH & AT WX 3N faed @& < wer # uelRia <u faum @
EXATRT PR &

() WERR P U @ W (b) o @

) ros @rd A @) ™= @ |

On dissolution of a firm, a partner paid Rs. 1,000 for realisation expenses.
Which account will be debited ?

(a) Cash Account (b)  Realisation Account

(c)  Partners’ Capital Account (d) Profit & Loss Account

Uh BH & FHIUT D I T ARIQR H0 1,000 FHAGT ZFJT BT I B
fear | eF—u1 @rd sfde g ?

() rps @ (b) Al @

() WTEIRR BT Yol @rdr (d) -~ @ |
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On taking responsibility of payment of realisation expenses by a partner, the
account credited will be :

(a)  Realisation Account (b) Cash Account

(c) Partners’ Capital Accounts (d) None of these

AR gRT agell Al & YA DT ST ol UR Widl shise fhar e :
(@) agell @ H b) RPpe @ H

() wrSeRl & Yol @nT A (d) - @ |

When realisation expenses are paid by the firm on bahalf of a partner, such
expenses are debited to :

(a)  Realisation Account (b) Partners’ Capital Accounts

(c) Partner’s Loan Account (d) None of these

g AISER OB ¥ BH §RT a9l FI BT YIaH fbar Srem &, af W
a3t a1 Sfde fhar o &

(@) Il @rd H (b) wSIERI & Yoil @

c) SRRl & R Wid H d) =™ F D T

On taking responsibility of payment of liability of Rs. 1,00,000 by a partner,

the account credited will be :

(a) Realisation Account (b) Cash Account

(c)  Partners’ Capital Accounts (d) None of these

HISIER §RT 1,00,000 W0 & IR & YA BT QNI ofF R Wl HiSe

o ST

()  a%eh wrd A (b) P @@

() SRRl & Yol @ H d) =™ 3 D T2

Cash balance shown in the Balance Sheet is shown on dissolution of firm in:
(a) Realisation Account (b)  Cash Account

(c)  Capital Accounts (d) Profit & Loss A/c

e faes # fe@m Y Adhe A BT AU & 9 Q@ 3

() o @ W (b) pe @ A

©  goh @ A () e a

Premium received on issue of shares are shown under the head in the
Balance Sheet :
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32.

33.
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(a) Reserve and Surplus

(b)  Current Liabilities and Provisions
(c)  Share Capital

(d) Contingent Liabilities

' @ it Ryt Wifem & nfeies faeer & e # fewmr omar =

(@) T SR amige (b) =Te <R 3R Urae
() &1 Yol d) cp¥Ee <R
Interest on calls-in-advance is paid at the rate of :

(a) 8%p.a (b 6%p.a

(c) 5%p.a (d) None of these

A AT TR TSl & YA Bl &R B

(@) 8% Ay b) 6% gfcay

(c) 5% ufcray d) sTH | P TEI
Which one of the following is the registered capital of the company ?
(a)  Paid-up capital (b)  Uncalled capital

(c)  Authorised capital (d)  Issued capital

gTH A HHE DI Golied Yol dIF—T & ?

() s gl (b) erf gl

(c) e gt (d) frifad gl

Dividends are usually paid on :

(a)  Authorised Capital (b)  Issued Capital

(c) Called-up Capital (d)  Paid-up Capital
SICIMECIEIE RHE ORI RT

() e ol (b)  Fwifae ool

() #Ff g goll W (d) wew golt

The term financial statements include :

(a)  Profit & Loss Account

(b)  Profit & Loss Account and Balance Sheet
(c) Profit & Loss Appropriation A/c
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d) (a)and (b) both
facira fqa=or oreg 4 onfie @

(@)  v—gI @

b) TM—=I @Tar iR e facer
() omv—grfe ST @

(d)  (a) 3R (b) <l

The term current assets do not include :

(a)  Stock (b)  Debtors

(c) Car (d) None of these
TTe] wwfd § enfie 78§

(@)  wafaar b) <TIER

) @R d) =™ F DR T
Balance Sheet is a :

(a)  Statement (b)  Account

(c) Both (d) None of these
(@)  faaxor (b) @rar

) == d) =™ 3 D T2
The most commonly used tools for financial analysis are :
(a)  Horizontal analysis (b)  Vertical analysis
(c) Ratio analysis (d)  All the above
i RSO g ST § ST ATl AT A

(@)  &fcrT faseror (b) orIaq fateryor
(c) orura faseryor (d) SwREd |G

An Annual Report is issued by a company to its :

(a)  Directors (b)  Auditors

(c)  Shareholders (d) Management
A B ariiep gfaded dI R fhar Sirar & ¢

(a) ETerR @ for (b) s & forg
) o'mERPl & forg d) I @ forg

Balance sheet provides informations about financial position of the
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41.

42.

43.

44,

45.
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enterprise :

(a) Atapoint of time (b)  Over a period of time
(c) For aperiod of time (d) None of these
AJe—97 SeM @ foxia Refa dddl gaan uxqd ol @

(@ < N RNy Jaf w b) R @ & SRM
) f"y cmafy @ forg d) =™ F DR A3

The ideal Current Ratio is :

3T ATe] U &

(@ 2:1 b)) 1:2

(c) 3:2 (d 3:4

The ideal Acid Test Ratio is :

3’ T 3rFeT UNIEoT ST ®

(@ 1:1 by 1:2
(c) 2:1 d 2:3
The ideal Debt Equity Ratio is :

3T Tq| S0 AT U ©

(@ 1:1 (b) :

(¢ 2:1 d 3:2

Stock Turnover Ratio is :

(a)  Liquidity Ratio (b)  Profitability Ratio
(c) Activity Ratio (d) None of these
¥h=] 3MMad ITUTd &

(@) R JrguTd (b) MQTIDAT U
(c)  foparfreram srgurd d) =T 4§ PIS AL
Profitability Ratio is generally shown in :

(a)  Percentage (b)  Simple Ratio

(c) Times (d) Equation
ARSI DI AT € TR ST &

(@) ufcwa # (b)  ATERY T H
() TomH (d) <GB |

Cash flow statement is prepared from :
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(a) Balance Sheet (b)  Profit & Loss Account
(c)  Additional Informations (d)  All the above

X[dbg Udle faRor IR fohar STrar % :

(@) onfdie facar (b) mH—gI ST

() orfaRed gamm d) Swda i

Which of the following is not a cash inflow ?

(a) Decrease in Debtors (b)  Issue of shares

(c) Decrease in Creditors (d) Sales of fixed assets
frfaRad § 9 -1 Adbs 3r<dig Tl & ?

(@) <RI H B (b) &1 &1 e

) oFeRi § B d) e iR e R
Which of the following is not a cash outflow ?

(a) Increase in Creditors (b) Increase in Debtors

(c) Increase in stock (d) Increase in prepaid expenses
ffeRad # | dH—u1 Ade dfede -6l 8 ?

(@) oFeRI ¥ gfg (b) <RI H gfg

©) <R ¥ gfy @) e ¥ ofy

Cash Flow Statement is based upon :

(a)  Cash basis of accounting (b)  Accrual basis of accounting
(c)  Accounting Equation (d) None of these

I Yarg fqavor menid = -
@) OEET D AbS ® AR R (b) AP & IUGA B 3MER WX
c) <rEiHA HAHIHR d) 7 9 P MER W 8l

Which of the following is not the source of cash ?

(a)  Purchase of Fixed Assets (b)  Funds from Operation
(c)  Issue of Debentures (d) Sale of Fixed Assets
fmfoRed § & -1 Ads AT T8 & P

(@) R gHRET & By (b) AT | PIY

c) o=l &1 fAetee (d) et gwiEr o Q@

Cash salesis a :
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(a)  Operating activities (b) Investing activities
(c)  Financing activities (d) None of these
SUCRCEAREE

(@) uf=re fehard b) fafrare fhard
) faxira fomamd d) =™ F DR A3

Section — IT (Non — Objective Type)
gug— I (IR—ag s )
AT : 2 Te 05 fAele quTieh : 50
Time : 2 Hours 05 Minutes [Total Marks : 50]
oY I el : (Short Answer type questions) :

Instruction : Question Nos. 1 to 22 are Short Answer Type Questions. Each Question
carries 2 marks. Answer any 15 questions.

forder : gt Wi 1 9 22 db &g Iaid Uel & 1 37 B B Y Yol b
f&t 2 oics forddfia & 1 fdsedl 15 Y¥eil &b SR ¢ | 15x2=30

1. What is realisation account ?
Il @Tar a7 8 7

2. What is meant by dissolution of a firm ?
BH & fdgeq & Fa1 o' © ?
3. What is meant by giving guarantee of profit to a partner ?

Pl SRR DI ™ B TRUST < BT 94T 37 87
4, What is partnership deed ?

AN el F7 87
5. What is Receipts and Payments Account ?

oTft 3R YA @ &1 § ?

6. What do you mean by analysis of financial statement ?
fa<iiar fdaror & fawivor 9 oy w1 |qHsd 8 2

7. Sonu Ltd. has a current ratio 3 : 1. If its stock is Rs. 40,000 and total current
liabilities are Rs. 75000, find out its quick ratio.
AR T & dre] U 3 : 1 & | I $HDI JBIAAT 40,000 FW AR el
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Te], <RI 75,000 HUY &, Tl dRel 3UTd S v |
What is common-size statement ?

HH ATHR & [da=0T FT 5 2

State the features of Income and Expenditure Account.
A—gY W B! g 3" AR aard |

What is the need for valuation of goodwill ?

A & JR&IH DI T 3T Jdbvell © 2

Why Revalution Account is prepared on admission of a partner ?
HER & UA'T & Y YAHSdIhA @IdT i dAaR fHAr Srem 7 ?

Distinguish between sacrifice ratio and gaining ratio.

T 3UTd UG YT U # 3R aar |
What are the modes of dissolution of partnership firm ?
HeeRl W1 & fqeed & qfdl d=—31 2 ?
Explain the features of a company.

ST D VIRl gard |

What is Reserve capital ?

e goll a1 ' ?

What is meant by over-subscription of shares ?
' & STY—AMIRT I MY FT FHd © 7
Define forfeitures of shares.

A" B STl Bl uRFTRT BHIFY |

What is a debenture ?

FOIYH HT © ?
What do you mean by Redemption of debentures ?

0T U1 & I I Y R 9 © °

State the limitations of Financial Statement.
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focirg faaror @ et & dri |

21. What do you mean by Ratio Analysis ?
IUT falvoT § 3 T |ASK & 7

22.  What are the objective of preparing cash flow statement ?
AIHg TaTg fIaxer &7 OR o’ & SeF 371 § 7

did 3odia yeet —

Long answer type questions :—

Instruction : Question Nos. 23 to 26 are Long Answer Type Questions. Each question

carries 5 marks. Answer all questions.

foTder : UeT WG 23 W 26 AP <rd Iiiel Yool & | SH hife B Yl Ygel b
fou 5 3iep fordfRa & | Tt geell b FTR | 4x5=20

23.

24.

M and N were parteners sharing profits in the ratio of 3 : 2 on the date of
dissolution their capitals were M : Rs. 7650, N : Rs. 4300. The creditors
amounted to Rs. 27500. The balance of cash was Rs. 750. The assets realised
Rs. 25,430. The expenses on dissolution were Rs. 1540. Close the books of
the firm. 2+2+1=5)
M TG N HEIGR & AR &I @I 3 : 2 & IUid | fawriord &= o | fage
& fa1 S Yoll &i— M : w0 7650, N : %0 4300 olFGRl @l NI w0
27500 T | b &1 Y HO 750 AT| FHAT F W0 25430 bl el B3 |
fages IR %0 1540 T BU| BH Bl J&ID a5 DI |
OR/3ferdr

Under what circumstances can a partnership firm be dissolved ?

fope Rl # ATseRY @1 fdges faar S |ear & 2
The Directors of a company decided to forfeit 5,000 shares of Rs. 100 per

share on which call money was Rs. 80. The bearer of these shares did not
pay Rs. 30 per share on first call and Rs. 20 per share on final call. Make
Journal entry for forfeiture of the shares.

T BT & FATeAdl = 100 ®U Ul 3 dTel 5,000 AT DI fSTH IR 80
SU ITFAT BT AT ofl, S PR o Bl 0 AT | 39 32 BT 9IRS YA
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26.

(18)

AT UR 30 wUI YT 3T 3R 319 IraT UR 20 wu YR 3f &7 JIraH
Bl T | Qi & Sl B Ao gfdfte By |
OR/311a1

Explain the tools of analysis of financial statements.

focirg faaro & Q"9 & SUBRON BT 37w BT |

The following is the position of current assets and current liabilities of Vijay

Ltd: 5

Particulars 2009 2010
Rs. Rs.

Creditors 20,000 15,000

Debtors 30,000 20,000

Bill Receivable 18,000 29,000

Prepaid Insurance 2,000 5,000

The company has incurred a loss of Rs. 6,000 during the year. Calculate

cash from operating activities.

o fo1. &1 =me] Fwufadl q are] <1l @ Rerfa FeferRad &

faavor 2009 2010
Xn. Xo.
RREL 20,000 15,000
EREAN 30,000 20,000
g fde 18,000 29,000
gdad dHr 2,000 5,000

¥ & TR HHI Pl 6,000 WU B B g | FaTed fhamsil ¥ Adhs Bl
0T BIFST |
OR/37raT

Discuss the limitations of cash flow statement.

JAps Yarg faaxor o1 JHRi &l 9Tt |

A and B are partners sharing profits in the ratio of 7 : 8. C was admitted in
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the firm for 1/6™ share who paid Rs. 1,80,000 as capital and Rs. 45,000 as
premium in cash. At the time of Admission General reserve amounting to
Rs. 45,000 and profit & loss a/c amounting to Rs. 24,000 appeared on the
liabilities side of the Balance Sheet. Show necessary journal entries to record

the above transactions.

A 3R B M & 7 : 8 & IUId # dfcd gU ARGR 28| C &1 1/6 TR &
ford & # enfire faear 3 R/ w0 1,80,000 Yol @ ®U # 3R 0O 45,000
NAEH & wu d Fhe fQar| ud’m & qqa Rfd f[Javor & ¥ wrr 4
Y WO 45,000 TG ATH—BI WIAT %0 24,000 T & AT | YUY old—asl
BT AGIG IR D o T IF S ufafteat fkwrsd |

OR/31e14g1

Explain the procedure of determining the amount payable to a retiring

partner when he leaves the firm.

Udh I[AHTY T HY ATl AR BT oF Y & fFgiRoer & Jfq a7 s
P |
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?Rﬂﬁl'@m h I (Answer of objective questions) :—

1. (a) 14. (a) 27. (b) 40. (a)
2. (b) 15. (a) 28. (¢) 41. (a)
3. (b) 16. (b) 29. (b) 42. (a)
4. (d) 17. (a) 30. (a) 43. (c)
5. (a) 18. (a) 31. (b) 44. (a)
6. (a) 19. (b) 32. (¢) 45. (d)
7. (c) 20. (a) 33. (d) 46. (c)
8. (a) 21. (a) 34. (b) 47. (a)
9. (a) 22. (a) 35. (¢) 48. (a)
10. (a) 23. (¢) 36. (a) 49. (a)
11. (b) 24. (b) 37. (d) 50. (a)
12. (a) 25. (b) 38. (¢)

13. (b) 26. (c) 39. (a)




CHAPTERWISE DISTRIBUTION OF MARKS

Unit Topic Total Long Short Objective
Allotted Type Type
Marks
Part-A | A/c for Non-Profit organisation & Partnership (Compulsory)
Unit-1 Accounting for Not-for-Profit Organisations 10 X 2(2) 6(6)
Unit-II Accounting for Partnership 5 X 1(2) 3(3)
Unit-II1 Reconstitution of Partnership 20 1(5) 3(2) 9(9)
Unit-1V Dissolution of Partnership Firm 25 60 1(5) 3(2) 14(14)
Total
Part-B | Company Accounts and Financial Statement Analysis
Unit-V Accounting for Shares and Debenture Capital 12 1(5) 2(2) 3(3)
Unit-VI Analysis of Financial Statements 8 X 1(2) 6(6)
Unit-VII Statement of Changes in Financial Position 20 40 1(5) 3(2) 9(9)
Total 100 4x5=20 15x2=30 50x1=50




